FINA MANAGEMENT

Paper- I : Project\Planning and Budgetary Control
Time : Three Hours 3 M.M. : 100

Part- A (317 — &)
Q1. () Whatis Project Scheduling? IR e @ %’-’
(ii) Give two objects of Project Planning.
LIRUICEIREU UL R A RSO R GIE
(iii) What is Project Life Cycle? IRaGHI Wia- as a1 &7
(iv) Give the formula of pay-back period. T 3/afy Fa QISR |
(v) Define responsibility. SwRaIRE B IRRT AR
(vi) What is margin of safety? & ST T 31 87
(vii) Explain the meaning of project financing:
RIS I & 3R T AR
(viii) What is CPM? 1104, a1 87
(ix) Give the formula of material price vanance
AP e faERer @ 9 SRR
. (x) What is Idle time variance? i ¥ fJa=v 1 8?
S Part- B (3P — @)
Q2. What is Porject feasibility analysis?
© gRETSHT Siedr fagersr e 77
Q3. ° What is zero base budgeting? 9 TR FifcT Tl ¥? |
Q4. . Explain the line and staff organisation. |
X T T FeT B W |
Q.. Give four ufesof PERT. PERT & TR SUdrT qa= |
Q.6 . Whatis flexible budget? Aradier Soic w1 BT 87
. Part- C (97T — ) -
Q.7. Explain-the term project appralsal What aspects Jhe prOJect are
\, investigated and how?
\aRadreT e B ﬂqaﬁﬁlmﬁmwﬂd%$H4ﬁH€1m§phdﬁ
Sitg P SR & AR BA?
' Or/3Far
OmmmwﬂwmmMﬂx&mewmgﬂm&ww%ﬂwﬁﬁmamﬂﬂﬂﬂmﬂw
ﬁﬁmﬁmﬁﬁwaﬁ%mﬂmﬂ?fmw‘

Years (@) Price (in Rs.Y3ed (®)
2009 - 83
2010 92
2011 71
2012 90
2013 169
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Q8.

QJ9.

What is i einal \rat/eeﬁ return of a project? How you will calculate
the IRR? Also explain its advantages and disadvantages.

IRASHT /A AIRS YA™ X 1 &7 3T TSB! AT b IR

F? TS A4 ¢ wE N s |
4 Or/3gal
Given the following figures :
Fixed Cost Rs. 16,000
Selling Price per unit Rs. 8
Variable Cost per unit Rs. 5

Show the impact of the following changes on BEP:

() Fixed Cost increases by Rs 5,000

@) Fixed Cost decreases by Rs. 4,000
(iii) Variable Cost increases by 20%

(v) Fixed Cost increases by 20% and variable cost decresses by 10%

ReR @Irrd - 16000 %.
g s faspg qe 8.

Ul g gRadHie ard o WA S,
T-faege Reg ) =1 aRadHi @7 U Jard:
() ReRAFE 5,000 %8 98
(i) TReR @FE 4,000 ﬁ.@;%aé
(i) IRIcINe A 20% 9¢ ,
\2) ReR TFTa 20 ufE ¢ v gRad=iiel @i |0 IR e

. Explain the impGttance of PERT and CPM techniques in the field of

ision-making:
grecnﬁaakéaﬁq%wﬁﬁrm.aﬁ?ﬁaﬁmwmml
y, OR/39gd1 _
Stanldard-Cost specification for a product is as under:
Time - 5 hours per unit
Cost - Rs. 5 per hour
Actual Performance in a Cost Period:
Production 2.000 units
Hours taken : .
Production 10,400
Idle time . 400
Total time - 10,800 hours _

Payment made Rs. 56,160
(Average per hour Rs. 5.20 for 10,800 hours)

Calculate Labour Variances _ |
ST PG AT I T G E |
A 9 - 5 goe qfd ?ﬁﬁﬁ%
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AN -4 5 . R sever

T3 IEfy H qrafde e -
AR / 2,000 SHEAI
IART 10,400 ©UC
= Oy 400 HUC
B T 10,800 H©UC

56,160 . &1 JEM HAT 7147 (A 5.20 5. YRy =ver, 10800
Hogl & forg) '
5 RaRoll & [ R |

Scanned by CamScanner



